pal}

—IE
it

£ R & X

T2 M : AHAREERERENETIE (EXRETSE)

% B O —% M REtEE
(—% M TE{HH%)
¥ & I Hi & TR 3 =]




ITERIER

& % B fr & % i &
A BEEISRE
I |BXEEIE =
EEITEE 5
B |HERRE 1%
HIEE B A+B
c |BRiEEEE 1=
IER(M A+B+C
D |—KREEERS 1z
A+B+C4+D+E
T E{fitE (FAXBEIVET
E HEHRRUBSEHERENE 8%
& it




ALEBINRE

& ¥ B {7 & 8 i

I ERREIE

1) |REEREBELISE 1=
2) |BR.BAORBEIFE 1
3) |BAT.aVtEUMEREIE =
4) [FFERERBIE 1=
5) |[TLEHRZERKEISE 1=
6) [BAXMBIKEIE 1=
7) |FEXESBEIE 1
8) |BHEAKIRIBEIE 1=
9) |RIKBIEFMBIE 1=
10) |REEEZRHEIE 13X
1) [FFEE—52—RiEIE 1

12)

RExEEERRIELE

1=




#_H B =E B B &

) REEHRIETSE

BEE-)LERE VE16 LVARLY 30| m
BEE-)LERE VE22 LWARW 30| m
EHERE (GP) G28 T 180 m
EERE (GP) G70 FEH 210 m
FATEERYIFLUEFER)|30 HER 50| m
BATEERYTFLOEFEP)|65 BN 70| m
B (EM—IE) 14° FiE 200 | m
B (EM—IE) 38" FiE 100]| m
SES—7IL 6KV EM—CET38°FE & 430 | m
EM—CE4¥—7JJL 3it5[3.5"%3C FE 330 m
J—RIIARUK G28 40| K
/—RILRUE G70 40| K
EREEELEM FEP30—G28 10| @&
EREEELEM FEP65—G70 10| @&
FILRy I R(ATULAEL) [500%500%300 Bk iz 10| &

1 ¢ 3W50KVA+

BNE*a—EYIL 3 ¢ 3W100KVA+CS50KVA 10| H
BELa o) —RERE  |1,800%1,100%500H 10| &
In R AR (B S mE) 6KV _EM—CET38" 1.0 #8
im R LI (BRN) 6KV _EM—CET38" 1.0| #8
B TE EA, D 1.0 | &Fr
B TE EB 1.0 | #Fr
r—J LB =2F Z2Y 50| m
739 — B 35t 20| H




RBAME

#_H = B |6 .
EFTEEEEN bSO LY T 40| H
HEHI-BRL H=600 11|+ I FA (g k) 70| m
s BAREBHILAN) 10 m®
EHWEE BHO.45(:F#50.35) 1.0] &
#4511 R ER B T EHbiTE 10| =
RLEHFHERE 1.0] =

1) i




RRBE

#_H B =E B B ]

2) BR EBAHREIE

BATEEARYIFLUESFER)|50 1B 850 | m
BATEERYTFLOEFEP)|80 1BER 640 | m
BEE-)LERE VE22 FEH 200| m
BEE-)LERE VE54 LWARW 50| m
BEE-)LERE VE82 L\ARL 50| m
B (EM—IE) 55" FE 180 [ m
B (EM—IE) 14° EE 420 m
B (EM—IE) 22" FiE 550 | m
B (EM—IE) 60" EE 60| m
= CV35°—3C BBREMEMA 180 m
= CV559—4C BBEMH 180 m
EM—CE#—7JJL 3i5|5.57%3C ElE& 480 m
EM—CE~#—7JJL 4i5|55"%4C EE& 250 m
=L CV14°—3C BRBEFHER 120 m
=L CVv38°—3C BREHER 120 m
EM—CE~#—7JJL 3i5|387+3C ElE& 920 m
EM—CET4—JJL__ |100° F2&(FEP) 550 | m
=L CVT200" % EmEEmA 60| m
= FP8°—3C B 60| m
fitiE 7SRy o R (F—1F) |500W*400H*180D 1.0
BB 3 ELB3P100A+2P20A%30 1.0
Y—FvybJL—h— |[MCB3P100A 1.0 {&
REJL—h— ELB3P30A30mA 30| &




RRBMEE

#__H B = ¥ B | H& &
Bk TRy R (EE ) [600W*400H*400D 10| &
IJLyHPRYS2T  |[FEP50 80| &
IJLyYRYS2T  |FEPS8O 6.0 | &
TIRES E3n 20| &
T—T LIRS T BE =Y 400 m
IEEIIEREL H=6004E 41+ FI /A (A ) 400 | m
B K X 0 AL 3 B E (63) B - R 1.0 | T

2) i




REAME

#_H B =E B B ]

3) B/ aEREETSE

EM—EEF~—JJL  [1. 6x2C KEBGHML) 946.0 | m
EM—EEFS—JJL  |1.6—3C A##FL| 3910 [ m
EM—EEF~Z—7JJ)L 2. 0—2C A&HFW| 5740 [ m
EM—EEF~Z—7JJ)L 2. 0—3C A&H#FW| 637.0[ m
HRARLAyF (P, B) |[1P15A 40| &
HARAYF (P, B) [1P15A%3 20| A
HARAYF (P.B) [1P15A+PL, SW 40| &
HIARAYF (P, B) [1P15A*2+PL, SW 20| {&
EARAYTF (P, B#) [3wW 20| 1@
HARAYF (P, BH) [3W*2 20| {E
HIARAYF (P, B) [1P15A%4+PL, SW 40| {&
HARAYF (P, B) [1P15A%5 10| &
HARAYF (P, B) [1P15A%6 10| &
HiAa e b (P.BH) [2P15A % 2 180 | &
iAot k(P Bi) [2P15A * 3 40| &
EmAHEAD (P BH) |2P16A ET 17.0| &
EAHEAD U (P, BH) |2P16AE, ET 20| &
B EAD EUR (P, BE) [2P15A%2, ET 20| &
E AT VR (P, BH) |2P15AE % 2 1.0 @&
EidEAD (P . BR) |2P15AE * 2, ET 20| &
BBk Uk (BH) [2P15AE % 2, ET 40| &
ForLybiRyI X A ThiE102%44 HN—H 57.0 | &
Az E (A) LED;EMAR—R 51k 60| &




RBAME

#_H = B |6 .
fHEAZRE (B) LEDBHA—RF/b 3| &
fREAZR & (C) LEDF I 54k 80| &
fHBAZRE (D) LEDF I 54k 270| &
fREA<R 8 (E) LEDEHAR—RS5/+ 50| &
fREAZRE (G) LEDRLITAT 20| &
JEELT (al3) 1BIA A BTRIiE 50 &
JEE LT (a30) 1BIA A BTRIiE 80| &
SO EREAT (7) H & 50| &
BEEEELT (1) il 10| &
EHEBERAyFH)  |C90-WC 140| &
RFBKFE E3 60| &
= E3 8o | &
ZIRENE E3n 10| &
RIFULA R E 150%150 79.0 | BFT
B K X I o AL 3 $EE(BYE-RIMA| 1000 | FET

3) H




RBAME

#__H B = ¥ B | HM& ]

4) FEMERETIS

METr—2JIL EM-HP1.2-2C X3f-Ewk 80| m
METr—2JIL EM-HP12-3C XE3-Evk 164.0 [ m
ARE—H— 3W 60| &
HARE—H—(ATTH) [3W 50| &
TyTr—3—(P, B)3w 50| &
B K X AL 3 SBEE (19) B -FRiA 10.0 | @FR

4) &




RRBE

@ H B = B B .

5) FLEHESIEREIE

E#r—2 )L EM—S—5C—FBX$-Evh 720 m
FLEAZyh (P, B#)|$Rd 20 | f&
FLEAZwR (P, B3 |iK 0] @
SR 4R 10} {8
SRBRRER 10| &
AREEENE  |[$EE(19)8- KA 5.0 | EFT

5) B




RBAME

#_H = B |6 .

6) BAMFBRETE

= ICTO. 5—2P 960 | m
TIRLYMRYOR  |afschizi02x44 Hi—f4 30| 1@
JL—k BT L-NFED AT 30| &
RIRIERA — b 8ST700 10| &
iR & s 1A TD720(W) 10| &
pd: 1A L TD720(W) 10| &
a—FLREEEH WS700 (W) 10| &
BTN S 20| {&
Rt & 1.0] &
ITREETHREEE 1.0] =
EREREE 1.0] &
B K X I A 3 SEE (19) B KA 5.0 | EFR

6) H




RIRBAE

= H = B |6 .
) FEXERHEIE
ZBHr—I)L EM—AEO. 9—2CK#-Evk 280| m
BEEX R 7R IR FHE |ERSAL . BEERAT 10| {&
B K X 0 AL 3 SEE (19) B -FRiA 3.0 | &P

7) B




RRBE

#_H = B |6 .

8) EENAKIRMBRETE

ZBHr—I)L EM-AEO. 9—2CE3#-Evk| 1870 | m
BHr—I)L EM-AEO. 9—4CE#-Evk| 2050 [ m
i #r—2 )L EM-HP1.2—3CK$#-Evhk 490 | m
&y —2 )L EM-HPO. 9—5PE3#-Evk 840 | m
i #r—2 )L EM-HPO._9— 10PX3t-Ewk 240| m
EaE PE1#1OMER BEHR 1.0

P 2R IR ENFE PRI1#R HAR 2.0
ABEXIERI R 218 F&Ei 130 1A
ZH ARV BRI (218 FEH 160 | 1A
ERARRY RIS | F55k BhKE 5.0 | {E&
HEBEXE RN 218 B XH#E 6.0 | {E&
HEBEXE RN 3fE FEH 30| fE
BEFAEE S BARFERZYFH 40| {&
FoRLykRysR (2 Bhsi—f) |119%119%54 40| {@&
R AR NKZER 10| &
B K X I o AL 3 SEE(19) B - BRI 10.0 | &AR
EREEIRVE PRIk 10| #

8) H




RRBMEE

= = B |6 ]
9) KKBIMEREIE
= ICTO. 5—2P 380 m
KK BRI E EEERAEA S 10| &
B K X I AL 3 SEE (19) B -FRiA 3.0 | &P
EREEIRVNE PRIk 10| #

9) H




RBAME

#_H B =E B B ]

10) FREEEHREIE

ERHBISTTESERE (PP [16 VALY 4500 | m
EM—CE~#—7JJL 2i|3.59%2C EE 5000 | m
=7 VCTFO. 759—2c| 1250 m
FYRL kKo R 2 BAA—) [119%119%54 6.0 &
BE/RIL LP360—200 1040 [ #
BH/RIL MP360—200 340 | ®
BE/RIL SP275—200 15.0 | #%
IVRFvyS PC—1 153.0 [vbk
avkO0—5—(2%#t) [DFC202XTS 30| &
il A 20[E]3% 6[EER 10| @

10) i




RRBMEE

#_H B =E B B ]

1) ht—5—RETE

EM—EEF7—JJL  [2. 0—2C K&BHIW 1200| m
IL—IE—%5— CH112 X 7500 20| &
IL—IE—45— CH112 X 4500 10| #&
IL—IE—%5— CH112 X 9000 1.0| #%
IL—IE—45— CH112 X 6000 10| #%
IL—IE—45— CH112 X 6500 10| #%
il fE A& CRE ) ACT—202TG 10| @

11) B




RBAME

#_H B =E B B ]
12) REEEERZHEIE
BAEEAR)TFLUEFEP)|50 IHER 500 [ m
EM—CE~—7J)L 3i%|387*3C FELE (FEP) 700| m
EEIERL H=6004E I+ %1 (A ) 300 m

12) i




